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�������������������� U0 = 5 �
�������������������������� RG = 50 �
������������������ CK →∞
�������������� Uf = 0,6 �
������������������� UT = 25 ��
����������������� B = 100
������������� UCEsat = 0,1 �

���������������������� Ua0 = 3 �
�������������������� IC0 = 10 ��

���� ��� ��� ���������� ��������������������������������� ��� ����������� ����������� ��� ��������
��� ��������� ������� ��� �������������� ������� ��� ���� ��� ����������� CK �� ��� ���������� ����
��������� ����� ��� �������� ������ ����������� �CK →∞� ���� �������� ����� �������� ����
��� �������� ��� ������������ �������������� ������� ��� ��� ������ ���� ����������� �����������
�������� ��� ��� ���������� �������������������� ��� ��������� ��������� ������ ��� ������������
��� ����������� ���������� ��� ��������� ����������� ������ �����
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��� �������������� ��� ��� ����������� RV ��� RC ��� ���� ���� ��� ������������������� IC0

��� ��� ��������������������� Ua0 �����������

��� ��������� ��� ��� �������������������������������� vu = ua/ue ��� ������������

��� ��������� ��� ��� ������������������ re�

��� ��������� ��� ��� ������������������ ra�

��� ��� ��������������� uG(t) = ûG sin ωt ��� ������������ ��������� ��� ��� �������� ���������
ûa ��� ����������������� ������ �� �� ������ ������ ������������ ��� ���������������
������
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�������������������������� RG = 50 �
������������������ CK →∞
�������������� Uf = 0,6 �
������������������� UT = 25 ��
����������������� B = 100
������������� UCEsat = 0,1 �

���������������������� Ue0 = 2 �
���������������������� Ua0 = 3 �
�������������������� IC0 = 10 ��
���������� Iq0 = 20 · IB0
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������������ ���� ������� �� ���� ��� ��������������������� ��� �� ��� ����� ��� ���������� ���
������������ ��������� ������� ��� ������ ������������ ��� ����� �������� ��������������� �� RE
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��� ��������� ��� ��� ������������������ ra�

��� ��� ��������������� uG(t) = ûG sin ωt ��� ������������ ��������� ��� ��� �������� ��������
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����������������� B = 100
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